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Overview

This system works as a supplement to the traditional integrative complexity coding system.  It is in a sense parsing the IC score into two possible components.  It is not meant to replace the traditional system, but rather to complement and expound it.  In the traditional integrative complexity system, one can be complex by either having complexity about the topic itself (“George Bush is both good and bad”) or by having a simple view of the topic (“Bush is bad”) and then developing that simple view in a complex way (“Bush is bad because his economic policy is bad; but also his foreign policy is bad”).  In the traditional system, both these different types of response complexity receive the same score.  What we are doing is dividing up this overall score into its component parts, which we call Dialectical-complexity and ​Elaborative-complexity.  So, for example, the first example above would receive a score of 3 for Dialectical-  and 1 for ​Elaborative-complexity, while the second example would receive a 1 for Dialectical- and 3 for Elaborative-complexity. 

Dialectical-Complexity Versus Elaborative-Complexity
Dialectical-complexity occurs when someone has a complex view of the topic they are discussing at a broad level.  Dialectical-complexity involves competing themes (e.g., “Bush has both good and bad traits”) or the ability to see that different perspectives on the same topic have merit (e.g., “there are reasons both for going to war in Iraq and for not going to war”).  Elaborative-complexity, on the other hand, occurs when a paragraph or section has a singular theme or idea but that dominant theme is developed in a complex way, or when multiple dimensions sharing the same valence (i.e., two differentiated “bad” traits) are clearly laid out.  Elaborative-complex statements do not illustrate the validity of multiple perspectives but rather defend one perspective in a complex way (e.g., “Bush is bad and here’s why”, or “broccoli is interesting for the following reasons”).

Scoring

Assign IC score.  You should first assign the overall integrative complexity score just as you have been trained to do.  That IC score will not change based on what Elaborative- or Dialectical- score you assign.  

Determining Dialectical and Elaborative scores.  Then you should determine whether that score results from Dialectical-complexity, Elaborative-complexity, or both.  (Note: You do not increase the overall IC score if it contains both Dialectical- and Elaborative-complexity).  

Key rules for scoring.  The key rule is this: Whatever score you assign to the overall IC score, at least ONE of the two sub-scores should be equal to (but never greater than) the overall IC score.  If you assign an IC score of 4, this means that either the Dialectical-complexity score or the Elaborative-complexity score (or both) MUST have a score of 4.  
There is one exception to this rule, which will be discussed in more detail below.  The exception is that, if you can make arguments for both dialectical and elaborative complexity for the same part of the paragraph, you are allowed to “split” the score evenly between the two (so you could give an IC score of 4, a d-complex score of 2.5, and an e-complex score of 2.5).  More on this later.  
For the moment, let’s ignore splitting.  So let’s say you assign an IC score of 4 to a given paragraph.  Then, as you are determining Elaborative- and Dialectical-complexity scores, you decide that Dialectical = 3 and Elaborative = 1.  This state of things is not logically possible: You must either change your overall score to 3, or change one of the two sub-scores to 4.  The overall IC score must be identical to the highest of the two sub-scores unless you decide to “split” the score between the two sub-types.  
Likewise, if you assign an IC score of 4, you cannot give a Dialectical score of 5.  You must either change the overall score to 5 or the Dialectical score to 4.

Partial scores.  You do not, however, need to view assignment of the “lesser” sub-score in an either/or fashion.  In other words, let’s assume you assign an overall IC = 4.  Then you assign Dialectical = 4.  But you think one of the sub-arguments towards one of the themes in the paragraph contains possible differentiation.  It is not enough to justify a full score of 3, but enough to make you give it a 2 for Elaborative.  Then you should assign scores like this: IC = 4, Dialectical = 4, Elaborative = 2.  This is perfectly legitimate.  

Splitting scores.  Splitting a score is conceptually different than assigning partial scores.  In a partial score, you have one part of the paragraph that earns it (say) a 4 for elaborative, and a different part of the paragraph that earns it a (say) 2.  However, sometimes, a specific part of the paragraph might be considered both dialectical and elaborative.  We will discuss this at length in a different section below (resolving difficult paragraphs).  However, in this case, and in this case only, you are allowed to “split” the IC score between the d-complex and e-complex scores.  The only acceptable formulas for splitting are:


IC = 7
D-complex = 4, E-complex = 4

IC = 6
D-complex = 3.5, E-complex = 3.5

IC = 5
D-complex = 3, E-complex = 3

IC = 4
D-complex = 2.5, E-complex = 2.5

IC = 3
D-complex = 2, E-complex = 2

IC = 2
D-complex = 1.5, E-complex = 1.5
(Note: This looks weird, but it looks weird only because you are not splitting from a scale anchored by zero, but by one.  The principle is simple – you are evenly dividing the score between dialectical and elaborative complexity).  

Important: Splitting should not be the normal thing you do.  As a rule, if you are splitting more than 5-10% of your paragraphs, you are not thinking hard enough!  The goal is to determine whether it is dialectical or elaborative; “splitting” should be used only in extremely ambiguous cases.  
Typical Indicators of Dialectical-complexity

Pros and cons.  The most typical indicator of Dialectical-complexity is pointing out that a certain thing has positive and negative consequences/traits/elements.  This almost ALWAYS indicates Dialectical-complexity.

Qualifications.  Qualifications are trickier but are generally indicators of Dialectical-complexity.  So the statement “drinking is good except if you over-do it” would be an overall score of 2 and a Dialectical- score of 2 (Elaborative = 1).  It is a qualification, but it is a qualification on the general dominant theme, thus making it a Dialectical-level qualification.  
Expressions of doubt/uncertainty.  Anytime a paragraph is given a 2 for an explicit expression of uncertainty (e.g., “I don’t know”), this indicates Dialectical-complexity.  This includes expressions of uncertainty about future events (“maybe we’ll get paid on time, maybe not”) and qualified optimism (“I hope it doesn’t rain today, but I’m not sure.”)  NOTE: Not all expressions of uncertainty warrant an overall IC score higher than 1.  The coder must make an individual judgment just as the IC MANUAL specifies.  But IF such statements of doubt are strong enough or pervasive enough to warrant a score of 2 (or higher), then that MUST be a Dialectical-complexity increase.  NO Elaborative-complexity is ever given for increased scores based on expressions of uncertainty.   
Typical Indicators of Elaborative-complexity
All the information is either negative or positive, but never both.  The most common indicator of Elaborative-complexity is a structure where multiple points all contain the same valence (i.e., they are all positive OR all negative).  So assuming that some complexity exists and you are trying to determine whether it is Dialectical- or Elaborative-, one indicator is this: If it all points to the same conclusion (either a positive or negative one), if it is all valenced the same way, then it is Elaborative-complexity.  If positive and negative elements are discussed, or if all of the information does not lead to the same conclusion, then it is probably Dialectical.   So, assuming that A, B, C, and D are all clearly differentiated traits of broccoli, the statement Broccoli has bad qualities A and B is Elaborative-complexity (both aspects are negative aspects).  The statement Broccoli has good qualities C and D is also Elaborative-complexity (both aspects are positive aspects).  But the statement Broccoli has good quality C and bad quality A is NOT Elaborative-complexity, it is Dialectical-complexity.  So this kind of Elaborative-complexity involves positive-positive differentiations, or negative-negative differentiations, but NOT positive-negative differentiations.

Reasons for a dominant theme or multiple explanations for one perspective.   Elaborative-complexity can sometimes occur without necessarily clearly indicating the positive-positive or negative-negative structure shown above.  Namely, if two (or more) differentiated arguments or reasons are presented that clearly serve another, singular idea, dominant theme, or perspective, then it is Elaborative-complexity.  The most typical case of this second kind of Elaborative-complexity involves “because” or some other causal word followed by at least two distinct reasons why a particular favored perspective or idea is argued for.  So, for example, a speaker might say broccoli is interesting to people because it has a unique flavor and also because it has an interesting texture.  Note that here there is no clear valence – all the attributes described could be viewed as either positive or negative (“interesting” could be bad and good; “unique” is fairly neutral).  But this is Elaborative-complexity because an idea is stated (broccoli is interesting) and that idea is defended with two different reasons (flavor, texture).  This is Elaborative-complexity.       

Resolving Difficult Paragraphs

Sometimes it will be very clear whether a paragraph involves Dialectical- or Elaborative-complexity based on these rules.  At other times, it will be difficult to tell whether the writer intends it to be Dialectical- or Elaborative-complexity.  
There are two broad rules for resolving these difficulties:
Rule 1: Focus on the valence of the paragraph.  In other words, if it appears as if the author is viewing the same topic from a positive and negative light, or focusing on consequences that “pull” in opposite directions, then it is dialectical complexity.  If the author seems to have a singular theme, then it is elaborative complexity.  
Sometimes this can be difficult to unpackage.  So, for example, if the author says “drugs make you sick and not using drugs makes you sociable,” you might assign that a “2” for a weak differentiation.  So is it a dialectical 2 or an elaborative 2?  On the surface, you might say “there is a positive and negative thing here, so it’s a dialectical 2.”  But this would be wrong, because both statements point to the same valenced conclusion: Drugs are bad.  Both are reasons why drugs are bad; the second one is just stated by removing the drugs and producing a positive consequence (but it still means “drugs are bad” in terms of valence).  There is no substitute for thinking hard about the paragraph!
Rule 2: If Rule 1 fails completely, split the score for Dialectical- or Elaborative-complexity.  
Sometimes you will have paragraphs that you could legitimately make a case for either Dialectical- or Elaborative-complexity (but not both at once).  In other words, in contrast to a paragraph that clearly contains both Dialectical-complexity and Elaborative-complexity in different places (which you should score as having both), some paragraphs may have only one differentiation and it will be unclear what that differentiation is.  In this case, you should still assign the overall IC score, but split the score between the two sub-components as previously described.  
One of the most typical difficulties revolves around the situation where it isn’t clear whether the writer or speaker attaches valence (i.e., positivity or negativity) to particular trait/traits.  When this is the case, you should split the score.  Let’s take the case of broccoli again.  Suppose a person says:

Broccoli has two aspects: Its taste and its texture.  These two things comprise what broccoli is.  

This is clearly a 3: The writer clearly perceives two different dimensions of broccoli.  Note, however, that here it is unclear whether the writer intends these to be both positive, both negative, or one positive and one negative.  So is this Dialectical or Elaborative?  And the answer is that you can’t tell.  So it would receive an IC = 3, Dialectical = 2, Elaborative = 2.
However, watch how quickly this statement can become Dialectical-complexity:
Broccoli has two aspects: Its taste and its texture.  These two things comprise what broccoli is. Its taste is bad and its texture is good.  

See the difference?  The addition of this last sentence squarely places this paragraph in the realm of Dialectical-complexity, because now the differentiation has a positive-negative structure.  By adding the last statement, the two dimensions mentioned are clearly given opposite valences (one positive and one negative), and thus the author legitimizes two competing but legitimate views of the topic “broccoli.”  If two differentiated aspects have a different valence, then it is Dialectical-complexity.  So the above paragraph, despite being identical in almost all respects to the previous paragraph, gets a very different score: IC = 3, Dialectical = 3, Elaborative = 1.  
Sometimes, it is not so much a lack of information that leads to ambiguity as the potential for different interpretations of the dimensions the author outlines.  For example, the following paragraph sparked a long and spirited debate amongst our top coders:

[Moderator], I am never satisfied with the economic growth of this country. I'm not satisfied with it even if there were no [Foreign Political Party] in the world, but particularly when we're in the kind of a race we're in, we have got to see that America grows just as fast as we can, provided we grow soundly.
Everyone agreed that this paragraph was IC = 2 because of a “weak” differentiation between  “growing fast” versus “growing soundly.”  But is this a Dialectical- or Elaborative-level differentiation?  It’s hard to tell.  Some people argued that these were just two different positive ways that America can grow that fit in with the overall tone of a paragraph aimed at “improving growth” (Elaborative-complexity), while others argued that they were rather two competing forces at a Dialectical-level (in a sense, growing soundly may be a qualification to growing fast).  Both arguments are legitimate and it is hard to tell which is correct without additional information.  In cases like this, splitting the score is appropriate.   So, this paragraph was scored as IC = 2, Dialectical =1.5, Elaborative = 1.5. 
Examples

Let’s take few more examples and break them down.  

Dialectical but no Elaborative.  Smoking really sucks;  it makes me out of breath a lot.  I really hate that part of it. But I do meet lots of cool people smoking and I enjoy that common bond. 
So this is clearly a 3 for the overall IC score.  Two dimensions are differentiated (out of breath versus meeting cool people), and no integration.  Now how are we going to score Dialectical- and Elaborative-complexity?  The question you are asking is this: Are these two differentiated dimensions different perspectives on the topic of the paragraph (“smoking”) itself, or are they differentiated dimensions serving a dominant perspective on an overall theme about that topic?  So let’s code it for Dialectical and Elaborative.
Dialectical:  This paragraph is clear – these two dimensions are different takes on the overall topic of “smoking.”  Smoking itself is viewed as having both positive and negative elements, thus Dialectical-complexity is a 3.  
Elaborative: No Elaborative-complexity at all; no arguments serving a single perspective or theme.  Elaborative here = 1.

So, overall IC = 3, Dialectical = 3, Elaborative = 1.

Elaborative but no Dialectical.  Smoking really sucks;  it makes me out of breath a lot.  I really hate that part of it. But it’s even worse, really.  It doesn’t just effect me; it also hurts society’s health care system, because lots of people have to pick up the tab.  
So this is clearly a 3 for the overall IC score.  Two dimensions are differentiated (out of breath myself versus societal consequences), and no integration.  Now how are we going to score Dialectical- and Elaborative-complexity?  The question you are asking is this: Are these two differentiated dimensions different perspectives on the topic of the paragraph (“smoking”) itself, or are they differentiated dimensions serving a dominant perspective on an overall theme about that topic?  So let’s code it for Dialectical and Elaborative.

Dialectical:  This paragraph has no Dialectical-complexity.  The topic is “smoking” and all the information about smoking is negative; it has one theme, thus Dialectical-complexity is a 1.  

Elaborative:  Here we have a clear example of Elaborative-complexity.  The dominant theme is “smoking is bad” but two differentiated reasons are given for why it is bad.  Elaborative here = 3.

So, overall IC = 3, Dialectical = 1, Elaborative = 3.

Both Dialectical and Elaborative.  Smoking really sucks;  it makes me out of breath a lot.  I really hate that part of it. But it’s even worse, really.  It doesn’t just effect me; it also hurts society’s health care system, because lots of people have to pick up the tab.  But I do meet lots of cool people smoking and I enjoy that common bond, so there’s good in it, too.
So again, lots of differentiations here make this a 3 (out of breath vs. health care system vs. meeting cool people smoking).  But how do we score it for Dialectical and Elaborative?
Dialectical:  This paragraph is clear – two of these dimensions are different takes on the overall topic of “smoking.”  Smoking itself is viewed as having both positive (meet cool people) and negative (out of breath, health care) elements, thus Dialectical-complexity is a 3.  

Elaborative:  You might be tempted to say there is no Elaborative-complexity here because we have Dialectical; but you’d be wrong.  Here we have a clear example of Elaborative-complexity embedded in the first theme (that “smoking sucks”).  Two differentiated reasons are given in service of this singular theme, which makes it Elaborative-complexity.  The Elaborative- theme is “smoking is bad” has two differentiated reasons given for why it is bad.  Elaborative here = 3.

So, overall IC = 3, Dialectical = 3, Elaborative = 3.

What about integration and beyond? Examples

Although we have exclusively used examples so far with no integration, the same principles apply for scores above 3.  The rule for integration is that any integration score goes towards the sub-type for the differentiation on which the integration was based. All integration requires at least two differentiated dimensions.  So, when something is integrated, and you are considering whether or not the integration is dialectical or elaborative, you should be focused on whether or not the two differentiated things being integrated were differentiated as dialectical or elaborative things.  If an integration is based on a dialectical differentiation, then it is dialectical.  If an integration is based on an elaborative differentiation, then it is elaborative.  Consider:

Dialectical but no Elaborative.  Smoking really sucks;  it makes me out of breath a lot.  I really hate that part of it. But I do meet lots of cool people smoking and I enjoy that common bond.  These two things are always in tension in my life.  Feeling out of breath makes me feel bad, but meeting people is important as well.  In fact, both the positive and negative things about smoking – the tension – have really worked together to shape my character.  I must constantly balance the stress of my addiction with the happiness I receive from meeting cool people.  Finding this balance is essential to who I am as a person.
So this is clearly a 5 for the overall IC score.  Two dimensions are differentiated (out of breath versus meeting cool people) and they are integrated into the person’s character by balancing them.  Now how are we going to score Dialectical- and Elaborative-complexity?  The integration doesn’t change anything.  You are still asking the same question as you were without integration -- Are these two differentiated dimensions different perspectives on the topic of the paragraph (“smoking”) itself, or are they differentiated dimensions serving a dominant perspective on an overall theme about that topic?  So let’s code it for Dialectical and Elaborative.

Dialectical:  This paragraph is clear – these two dimensions are different takes on the overall topic of “smoking.”  Smoking itself is viewed as having both positive and negative elements.  The fact that they are integrated into a larger point flows from this Dialectical-complexity; they are recognizing both pros and cons relevant to a topic and then integrating those into a larger structure.  Thus Dialectical-complexity is a 5.    

Elaborative: No Elaborative-complexity at all; no arguments serving a single perspective or theme.  Elaborative here = 1.

So, overall IC = 5, Dialectical = 5, Elaborative = 1.

Elaborative but no Dialectical.  Smoking really sucks;  it makes me out of breath a lot.  I really hate that part of it. But it’s even worse, really.  It doesn’t just effect me; it also hurts society’s health care system, because lots of people have to pick up the tab.  Indeed, these two things are interrelated.  The health care system takes care of me when I suffer from breathing problems; my breathing problems cause more drain on the health care system.  So ironically my own suffering also causes everyone else to suffer; and when everyone else suffers I suffer in return.  
So this is clearly a 5 for the overall IC score.  Two dimensions are differentiated (out of breath myself versus societal consequences) and they are clearly integrated because they mutually influence each other.  Again, your first question here is about the differentiation – is it Dialectical or Elaborative?
Dialectical:  This paragraph has no Dialectical-complexity.  The topic is “smoking” and all the information about smoking is negative; it has one theme that is never even so much as qualified, thus Dialectical-complexity is a 1.  

Elaborative:  Here we have a clear example of Elaborative-complexity.  The dominant theme is “smoking is bad” – that dominant theme is never compromised.  Two differentiated reasons are given for why it is bad, and those differentiated reasons are integrated.  But both the differentiation and the integration serve the larger argument that smoking is bad.  Elaborative here thus = 5.

So, overall IC = 5, Dialectical = 1, Elaborative = 5.

Both Dialectical and Elaborative.  Smoking really sucks;  it makes me out of breath a lot.  I really hate that part of it. But it’s even worse, really.  It doesn’t just effect me; it also hurts society’s health care system, because lots of people have to pick up the tab.  But I do meet lots of cool people smoking and I enjoy that common bond, so there’s good in it, too. These two things are always in tension in my life.  Feeling out of breath makes me feel bad, but meeting people is important as well.  In fact, both the positive and negative things about smoking – the tension – have really worked together to shape my character.  I am a caring person in part because I know what it feels like to be knocked down by an addiction, and in part because I meet so many cool people through smoking.
Dialectical:  You can see the same Dialectical-integration as before: The tension between the good and bad aspects of smoking resolved in the interactive product (“caring person”) of those aspects.  Thus, Dialectical = 5.  
Elaborative:  Again, you might be tempted to say there is no Elaborative-complexity here because we have Dialectical; but you’d be wrong.  Here we have a clear example of Elaborative-complexity embedded in the first theme (that “smoking sucks”).  Two differentiated reasons are given in service of this singular theme, which makes it Elaborative-complexity.  The Elaborative-theme “smoking is bad” has two differentiated reasons given for why it is bad.  But there is NO Elaborative-integration of those themes.  So Elaborative here = 3.

So, overall IC = 5, Dialectical = 3, Elaborative = 5.
Practice and Commentary

Code each of these paragraphs for overall IC, Dialectical-complexity, and Elaborative-complexity (one at a time), and then read the score given by an expert and the resulting commentary:
Practice Paragraphs:
1.  Secondly, I believe that the high interest-rate policy that this Administration has followed has added about three billion dollars a year to interest on the debt - merely funding the debt - which is a burden an the taxpayers. I would hope, under a different monetary policy, that it would be possible to reduce that interest-rate burden, at least a billion dollars. 
2.  And I just want to make my position absolutely clear with regard to getting intelligence information. I don't intend to see to it that the United States is ever in a position where, while we're negotiating with the [nation B], that we discontinue our intelligence effort. And I don't intend ever to express regrets to [foreign leader A] or anybody else if I'm doing something that has the support of the [government legislation A] and that is right for the purpose of protecting the security of the United States.
3.  I refer to the fact that in [year], as a member of the [committee], I'm very familiar with the position that the United States took in negotiating with the [country A] [foreign political party] on these two [regions]. [person A], in [month], [year], described the position of the United States. The position of the United States has been that this build-up, in the words of the president, has been foolish. [person B] has said these [regions] are indefensible. [foreign political leader] will not withdraw. Because he will not withdraw, because he's committed to these [regions], because we've been unable to persuade him to withdraw, we are in a very difficult position. And therefore, the President's judgment has been that we should defend the [regions] if, in his military judgment and the judgment of the commander in the field, the attack on these [regions] should be part of an overall attack on [country B]. I support that. 

4.  In regard to the exchange of students and labor unions, I am chairman of the subcommittee on [Region 1] and I think that one of the most unfortunate phases of our policy towards that country was the very minute number of exchanges that we had. I think it's true of [Region 2] also. We did come forward with a program of students for the [Region 3] of over three hundred which was more than the federal government had for all of [Region 1] the previous year, so that I don't think that uh - we have moved at least in those two areas with sufficient vigor.

5.  When he states that we're second in education, and I have seen [region A] education and I've seen ours, and we're not; that we're second in science because they may be ahead in one area or another, when overall we're way ahead of the [region A] and all other countries in science; when he says as he did in [month] of this year that we have the worst slums, that we have the most crowded schools; when he says that seventeen million people go to bed hungry every night; when he makes statements like this, what does this do to American prestige? 

6.  Now, as far as running away from my party is concerned, [opponent] has said that we have no compassion for the poor, that we are against progress - the enemies of progress, is the term that he's used, and the like. All that I can say is this: we do have programs in all of these fields – [government programs A, B & C]- that will move America forward. They will move her forward faster, and they will move her more surely than in his program. This is what I deeply believe. I'm sure he believes just as deeply that his will move that way. I suggest, however, that in the interest of fairness that he could give me the benefit of also believing as he believes.
Expert Scores and Commentary:
1.  Commentary:  IC 2, Dialectical 2, Elaborative 1.  This paragraph is a straight 1 except for the two statements of possible different outcomes: “I would hope” and “it would be possible”.  These two things combined make the paragraph an overall 2.  Expressions of doubt or uncertainty of any kind, be they qualifications, concerns over future outcomes, etc., are always Dialectical-complexity (if they are anything at all).  So it’s a Dialectical 2 and a Elaborative 1.  

2.  Commentary: IC 2, Dialectical 1, Elaborative 2.  Two possible weak differentiations here:  (1) Between never discontinuing the intelligence effort vs. never expressing regrets to foreign leaders, and (2) not expressing regrets if it has the support of the legislation vs. it protects the security of the U.S.  Both of these are Elaborative-level differentiations.  The first one probably isn’t a real differentiation, but if it were it would be two things relevant to the overall theme of not compromising U.S. security.  The second one probably warrants a score of 2, and it does so because these are two conditions on which regrets will not be expressed which point generally in the same direction.

3.  Commentary: IC 3, Dialectical 3, Elaborative 1.  This is a tough paragraph, but it seems two different views, one positive and one negative, are both endorsed here with respect to the country A foreign policy.  On the one hand, the military buildup is viewed as foolish.  On the other hand, it is viewed that now support is necessary.  Although this could be viewed as a temporal change (thus it could be that the speaker no longer gives credibility to the old negative view, which would make the paragraph a 1 all around), the fact that the speaker says “we are in a difficult position” suggests the clashing of two different perspectives still viewed as legitimate.  This is not put in integrative language, however.  Thus the overall IC here is 3.  Is this Dialectical- or Elaborative?  A pretty easy call here.  Clearly, if there is a score higher than 1, it is for Dialectical, because both a positive and a negative view are both presented to military force/buildup.  

4.  Commentary: IC 3, Dialectical 3, Elaborative 1.  A differentiation between the policy being bad and ineffective and the fact that it is yet moving with vigor.  This is a Dialectical-level differentiation (good and bad things the government is doing).  Could be a temporal sequence, but it appears that the person is scrutinizing and admitting both the failures and successes of the government, which is clearly Dialectical-level differentiation (good vs. bad aspects).  One could possibly give Elaborative-level differentiation for the two different areas that the government has acted with vigor – that would clearly be a Elaborative-level argument supporting the government’s effectiveness – although this differentiation is not clearly laid out (what areas is the speaker referring to? Geographic areas would hardly suffice if that was all she/he was referring to) sufficiently to produce a score greater than 1.  A score of 3-3-2, although not the preferred score, would nonetheless not be unreasonable here.  

5.  Commentary: IC 2, Dialectical 2, Elaborative 1.  At first glance, this appears to be nothing but a list.  However, two features make it not entirely so.  First is that the speaker, while arguing that we are best overall at everything, does admit that we are not perfectly so (they are ahead in one area or another).  That is a qualification to the overall theme which warrants a 2, and such qualifications are always Dialectical-level qualifications.  On the other hand, this whole paragraph has a theme that the opponent is hurting American prestige, and one might make a distinction here (it is at best a weak differentiation) between different things hurting American prestige (false statements about worst slums, false statements about failures at science).  If that were given a score > 1, it would be for Elaborative-complexity; however, this is probably best characterized as a list (Elaborative = 1).  A score of IC 2, Dialectical 2, Elaborative 2, although not the preferred score, would not be unreasonable here.  
6.  Commentary: IC 4, Dialectical 4, Elaborative 2.  Differentiation here between his own belief is his different program’s ability to work and the acknowledgment that his opponent also sincerely believes in his program.  (Note that it is only because this belief is given some credibility that this warrants a score of 3; it is not complexity to say “my opponent thinks his program will work but it won’t”).  These two beliefs in different systems are implicitly integrated in the reciprocal statement at the end based on fairness – I have acknowledged your belief has some validity, fairness dictates you do the same for me.  That is the classic reciprocity that indicates integration, but it is not spelled out, only hinted at.  However, all this is in service of Dialectical-level complexity between two different views/beliefs about a topic.  The only hint of Elaborative-complexity is his belief itself that his program will move “more surely” and “faster”, two potentially very different things.  As a rule, you should not give complexity (especially Elaborative-complexity) for only two words, but in this case it is probably warranted.  It is commonly understood that moving “surely” and moving “quickly” are two different, sometimes, opposing things (e.g., the tortoise and the hare).  In this case, these opposing things both serve a singular purpose: To show how good his program is.  This is Elaborative-complexity, but it is a rather weak and not-elaborated differentiation, so a score of 2 is probably the best score.  Note that if he had said something like “more surely” and “better” or some other generic word for “good”, this would NOT increase the score beyond 1.  It is only because of the possible tension between the two words that a score higher than 1 should even be considered when no elaboration is offered.  

Examples of the “Degrees” Problem: Both Elaborative-complexity

Another occasional problem is one of “degrees.”  That is, what if someone clearly indicates that one thing is different than another thing (so there is some complexity there), but both are still viewed as bad?  So what if I say: “Man, broccoli sucks, but cauliflower is in a TOTALLY different category of suckage.  I’m telling you, you just can’t compare the two.”  So here I’m making a kind of weak differentiation – maybe a 2 for IC.  Is this d- or e-complexity?  And the answer is that it is usually elaborative complexity.  Why?  Well, one could potentially make an argument both ways, but in generally same-valenced differentiations are used in service of a larger theme like “vegetables suck” which is often explicitly laid out and (if not) is usually implied.  If I said “I don’t have an opinion about broccoli, but cauliflower sucks” that would be different – that’s clearly dialectical.  But if I clearly don’t like both things in the same category, yet clearly distinguish between them, we call that elaborative complexity.  Here are two real examples of elaborative complexity in this “degree” sort of way:
1.  The market of jihad has been established, and people are competing in it, and those who are there first are the winners.    Those who contributed prior to the conquest [of Mecca by Muhammad] and fought are not the same but are a degree better than those who contributed and fought after it.    "O believers, respond to God and to the Messenger when he calls you to that which will revive you and know that God comes between man and his heart and that to Him you shall be mustered

2.  Those present saw how 20 members of the Emergency Forces attacked and beat [name] as if she was a mortal enemy and then arrested her forcibly together with a group of women who were with her, how they encircled a group of women protestors and removed their veils, how they arrested children under 10 years old.   The eyewitnesses even considered what happened to be worse than what is happening in Palestine and regarded the Israelis' treatment of the Palestinians as better than these forces' treatment of the protestors.   This treatment did not spare the handicapped and blind who were beaten and left not knowing where to go after their escorts were taken from them.
